Tous les résultats pour les isotopes du Polonium

Polonium 185 (Z=84, N=101) Polonium 186 (Z=84, N=102)
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Polonium 187 (Z=84, N=103) Polonium 188 (Z=84, N=104)
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Polonium 189 (Z=84, N=105) Polonium 190 (Z=84, N=106)
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Tous les résultats pour les isotopes du Polonium

Polonium 191 (Z=84, N=107)
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Polonium 193 (Z=84, N=109)
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Polonium 195 (Z=84, N=111)
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Polonium 192 (Z=84, N=108)
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Polonium 194 (Z=84, N=110)
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Polonium 196 (Z2=84, N=112)
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Tous les résultats pour les isotopes du Polonium

Polonium 197 (Z=84, N=113) Polonium 198 (Z=84, N=114)
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Polonium 199 (Z=84, N=115) Polonium 200 (Z=84, N=116)
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Polonium 201 (Z=84, N=117) Polonium 202 (Z=84, N=118)
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Tous les résultats pour les isotopes du Polonium

Polonium 203 (Z=84, N=119)
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Polonium 205 (Z=84, N=121)
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Polonium 207 (Z=84, N=123)
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Polonium 204 (Z=84, N=120)
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Polonium 206 (Z=84, N=122)
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Polonium 208 (Z=84, N=124)
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Tous les résultats pour les isotopes du Polonium

Polonium 209 (Z=84, N=125)
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Polonium 211 (Z=84, N=127)
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Polonium 213 (Z=84, N=129)
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Polonium 210 (Z=84, N=126)
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Polonium 212 (Z=84, N=128)
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Polonium 214 (Z=84, N=130)
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Tous les résultats pour les isotopes du Polonium

Polonium 215 (Z=84, N=131)
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Polonium 217 (Z=84, N=133)

Polonium 216 (Z=84, N=132)
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Polonium 218 (Z=84, N=134)

Polonium 219 (Z=84, N=135)
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Polonium 220 (Z=84, N=136)
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Tous les résultats pour les isotopes du Polonium

Polonium 221 (Z=84, N=137) Polonium 222 (Z=84, N=138)
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Polonium 223 (Z=84, N=139) Polonium 224 (Z=84, N=140)
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Polonium 225 (Z=84, N=141) Polonium 226 (Z=84, N=142)
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Tous les résultats pour les isotopes du Polonium

Polonium 227 (Z=84, N=143) Polonium 228 (Z=84, N=144)
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Polonium 229 (Z=84, N=145) Polonium 230 (Z=84, N=146)
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Polonium 231 (Z=84, N=147) Polonium 232 (Z=84, N=148)
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Tous les résultats pour les isotopes du Polonium

Polonium 233 (Z=84, N=149)
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Polonium 235 (Z=84, N=151)
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Polonium 237 (Z=84, N=153)
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Polonium 234 (Z=84,
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Polonium 236 (Z=84, N

=152)
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Polonium 238 (Z=84, N=154)
ooy oy T T 20T g O el
i 1 s Protons ~ Protons
- S o] el Reons ]
/ g€ 2 £
2 ot <2 Soos 3
< g - 20 I
Protons i N 0 f
., Nesms S 1
A€ B 1 0o 5 1 15
(RARANRRARS RARAR)
T
s b——u—
T 3 s 1
s Protons
L oo 2l Newrons]
q Neutrons . O S
< r T ik )
& H
- T T T 3
o 7 20
1 b 3
aranflnnnflocel
4 s
]
= N
Tk 4w o
£ H
B w
&1 g o
N
Tt

HFB-D1S Bruyéres-le-Chatel




Tous les résultats pour les isotopes du Polonium

Polonium 239 (Z=84, N=155) Polonium 240 (Z=84, N=156)
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Polonium 241 (Z=84, N=157) Polonium 242 (Z=84, N=158)
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Polonium 243 (Z=84, N=159) Polonium 244 (Z=84, N=160)
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Tous les résultats pour les isotopes du Polonium

Polonium 245 (Z=84, N=161) Polonium 246 (Z=84, N=162)
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Polonium 247 (Z=84, N=163) Polonium 248 (Z=84, N=164)
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Polonium 249 (Z=84, N=165) Polonium 250 (Z=84, N=166)
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Tous les résultats pour les isotopes du Polonium

Polonium 251 (Z=84, N=167) Polonium 252 (Z=84, N=168)
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Polonium 253 (Z=84, N=169) Polonium 254 (Z=84, N=170)
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Polonium 255 (Z=84, N=171) Polonium 256 (Z=84, N=172)
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Tous les résultats pour les isotopes du Polonium

Polonium 257 (Z=84, N=173)
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Polonium 259 (Z=84, N=175)
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Polonium 258 (Z=84, N=174)

T T T o S
e Protons 3 ~
Tt A g 015 Neutrons
% £
: / SooP E
X / T
Protors end 1 ‘
N\, Neutrons <
o+ k ] 0 5 10 15
T T T T
T —
S ]
LARARRARA RAAN) ]
:. Protons
14 Powns > ~
< Neutons ] g
& o
$ ¢
¢ e
T T T £
“ %
' i H
2« " 3
Mlnnnnflnnnell]
Ty Sif 2
] 2
_ : ~
{E\S* 4 wio- 1 2
% <
< 4 b
< & E]
T ] N
s | 0 1
05 00 05 10 05 00 05 10

HFB-D1S Bruyéres-le-Chétel

Polonium 260 (Z=84, N=176)
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Polonium 262 (Z=84, N=178)
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Tous les résultats pour les isotopes du Polonium

Polonium 263 (Z=84, N=179) Polonium 264 (Z=84, N=180)
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Polonium 265 (Z=84, N=181) Polonium 266 (Z=84, N=182)
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Polonium 267 (Z=84, N=183) Polonium 268 (Z=84, N=184)
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